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Solve each problem by writing and graphing a system of equations that models the situation.

lky

Situation 1. ROCKET RIDE. 12
The Rocket Coaster has 10 cars, some that
hold 4 people and some that hold 8 people. 10
There is room for 56 people altogether.
How many 4-passenger cars are there? &
How many 8-passenger cars are there?

Let x = number of 4-passenger cars 6

Let y = number of 8-passenger cars 2

equation #1:

equation #2: e

x

Solution: Sy 2 4 6 & 10 12 “
Situation 2. FUN, FUN, FUN. z0lY
The cost of admission to Funland Park was
$70 for a group of 2 adults and 5 children. 25

The admission was $84 for another group of
4 adults and 3 children. Find the admission 20
price for each adult and each child.
Let x = price of an adult’s admission 5
Let y = price of a child’s admission

10

equation #1:

equation #2:

v

A

Solution: 5 10 1B 20 25 30 35

Situation 8. HOW ABOUT A KiSS? (i .

The number of calories in a chocolate kiss
is 20 less than the number of calories in
a caramel cluster. Three kisses plus four - —
clusters together have 360 calories. How
many calories are in each?
Let x = calories in a chocolate kiss —
Let y = calories in a caramel cluster 4 L

equation #1:. _ S AN S U SN S —

equation #2:. - 20 - |

Solution: 10 }———+

L 2
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Algebra I Name:

Unit 6 Test 1 Review Date: Period:
Remember to study your notes and old homework. Show all work to receive credit!!

#1-4: Determine the number of solutions to each system of equations (One, None, or Infinite)

y=2x+2 3 y==x-5
3x-9y =12
y=tx417 a4, 4
2. 3 —x+3y=—4
8x—y—-6=0

#5-8: Solve the following systems of equations. Write which method you used to solve.

-2x+2y=6 7. =3y=-15 ,thenx+y="7?
3x-y=3 x=2y=-1
2 1 Sx+y=-2
=——Xx+— 8, :?
6. y 3x 3 2x+y=S , then xy
4x+3y =11

#9-10: Is the point (-2,5) a solution to the following systems?

2x—yp=-9 =-2x+1
9, = 10 ’ .

—x—2y=-8 "2x+y=10



11. Write the equation that represents each table. What is the solution to the system of equations?

X y X y
-3 0 -1 i
-1 1 0 -2
1 2 3 -11
2 2.5 5 -17
y= y= Solution:

12. The equations of two lines are 6x—y =4and y =4x+2. What is the value of x in the solution for this
system of equations?

13. What is the solution to the following system of equations?
}l

/'y
"
1[4
0
(-10,6) L
7
e 6
3
(-5, 5) T1 117 N
3
= ey !
=10 -9 8] —7| 6] -s| =] 3| =2| 1] a] 1 9 s I O B A I e
]
_(_4; _r;} =
P~ e |
-
— y =
-8-nl 1 1117 = -
5
= s | _
| e iy |

14, In the system of equations 4x+5y =8 and 2x -3y =18, which expression can be correctly substituted
for y in the equation 4x+5y =87

A. —Zx+6 B. gx—6 C. —zx—6 D. zx+6
3 3 3 3



15. Which of the following representations accurately describes the following system of equations?
3x+y=-6

S5x -y =-10 A Tonly
I y=-3x-6 B. llonly
) y=-5x-10 C. landll
- D. landlll

X

-3

-2

-1

0

1
I1I.

16. Graph the systems of equations on the graph below. Then label the solution on the graph and record
your answetr.

x=3y=6 A
dx+2y =24 10
B_
8_
1'1-
SOLUTION: g
2_
0. 6.6 -4 -2 | |2/ 486,810
ok
Al
1!




Write a system of equations.

17. One number is 8 more than 3 times another number. Their sum is 86. Write a system of equations to
find the two numbers.

18. Maggie’s coin collection consists of dimes and quarters. If she has 53 coins worth $7.85, write a system
of equations to determine how many dimes and quarters she has.

19. Adult movie tickets cost $8 and kids’ tickets cost $5. At a particular movie there were 125 tickets sold
for $850. Write a system of equations to determine how many of each type of ticket were sold.

20. Some students want to order t-shirts for Carousel. One company charges $9.65 per shirt plus a setup
fee of $43. Another company charges $8.40 per shirt plus a $58 fee. Write a system of equations to
determine for what number of shirts will have the same cost at both companies.

21. Kelly will enclose her rectangular tomato garden with 32 feet of fencing. The length of the garden, |, is
3 times the width, w. Which system of equations can be used to find the dimensions of her garden?

[ +w =32 2/ +2w =32 l+w =32 2/ +2w =32

w =3/ w =3/ /=3w [ =3w
B. C. D.

22. Mindy and Jasmine went to a store to buy DVD's on sale for $5 each, tax included. Mindy purchased
two and half times as many DVD’s as Jasmine purchased. Together they purchased 14 DVD’s. Which
system of linear equations can be used to determine m, the number of DVD’s Mindy purchased and j,
the number of DVD’s Jasmine purchased?

m+j=14 m+j =14 Sm+5j=14 m+j=14
A. i B. 5 C. 1 D. 5
m—aj m—E/ ,/—Em ]—Em



Name Date Class

Test Preparation Practice
Algebra 1

A.1.D Represent relationships among quantities using concrete models, tables, graphs,
diagrams, verbal descriptions, equations, and inequalities.

Solve each problem. Choose the best 3. Rhonda received a gift card for

answer for each question and record your $25 worth of yogurt sundaes at the
answer on the Student Answer Sheet. Honeybear Sundae Parlor. If the cost of
Figures are not drawn to scale each sundae-is-$3-75-which-table-best—

describes, b, the balance remaining

1. What is the relationship between x and y on the gift card after she buys s yogurt

in the table? sundaes?
X y Alg b
-2 | -8 2| $2.50
2 | -4 4| $6.25
4 | -2 5 | $10.00
6 0 6| $17.50
Ay=x+6 B[s b
BLY=P=6 1| $22.50
C y=§x+2 3 $17:50
Dy=x-4
5| $6.25
2. Which inequality best describes the 6| $2.50
graph shown below?
AY Cls b
HA DN 2 1917504
iR b 4 | $10.00
""" \\,\ R 6| $2.50
mEs AL I
4 1 '$21.25 _.
F y= —3x 4 | $15.00
Gy=-x—3 iﬁ'zs
Hy=-38x-3 .6 13000 |
J y=x-3

Copyright © by Holt, Rinehart and Winston Holt AIgEDra 1
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4. The function f(x) = {(2, 3), (3, 4),(4, 5),
(5, 6)} can be represented in several
other ways. Which is NOT a correct
representation of the function f(x)?

F xis a natural number less than 6 and
greater than 1 and y is one more
than x.

G y = x + 1 and the domain is
{2, 3, 4, 5}.

H AY

\ &

b wWhN )X

5. Which description of the relationship
between x and y best matches the graph
below?

AY

A
¥x

A The value of x is 2 times the value
of y.

B The value of xis 2 less than the value
of y.

C The value of xis 2 more than the

valiia ~f s

vaarwan I

D The value of yis 2 times the value
of x.

Copyright © by Holt, Rinehart and Winston
All rights reserved

6. Which mapping best represents
the function y = 2x®> — 1 when the
replacement set for xis {—1, 0, 2}

F x %

N\

7. Which equation represents the
relationship of the data in the table?

XY
-2| 2
2| 4|
4|5
, 6 16|
Ay=x+4
By=x—-4
Cy=-2x
Dy=%x+3

Holt Algebra 1



